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SECTION 1 
 
Question 1 

y = ± 2
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x + 2 and y= 2

3
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y -intercepts are 0,2( )  and 0,−2( ); x -intercept is 3,0( )  
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Question 2 
x 2 − 6x + 32 + 2 y 2 + 4y + 22( ) = −16 + 32 + 2 × 22  
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centre 3,−2( ), a = 1, b = 1
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Question 3 

f x( ) = 1+ −3 x − 3( )
x − 3( ) x + 2( )    using long division  

f x( ) = 1− 3
x + 2

   providing x ≠ 3   

Asymptotes are y = 1 and x = −2. Point of discontinuity at x = 3  
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Question 4 
2x −1∈ −1,1[ ]  
2x ∈ 0,2[ ]  
x ∈ 0,1[ ]  
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Question 5 

2 2( )2cis 2 × 3π
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Question 6 
i 2n+3 = i 3i 2n = −i i n( )2 = −ip2  
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Question 7 
2 − 3i( ) + 2 + 3i( ) +1= 5  
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